







Entries:

9621



No Limit Holdem September 18th - December 15th, 2016

Buy-In: \$300 Entry Fee: \$50

Buy-In: \$4200 Entry Fee: \$300 Entries: 186

Prize Pool: \$3,557,475



Day 4/5 December 14th & 15th @ The Bicycle Hotel & Casino

#	NAME	Payout	#	NAME	Payout
1	TIMOTHY CRAMER	\$503,250	6	SOREL MIZZI	\$81,000
2	DANIEL ILLINGWORTH	\$282,500	7	CHRIS MOORMAN	\$64,200
3	MASSOUD ESKANDARI	\$175,240	8	JESSE SYLVIA	\$51,235
4	EL HARRAK SAID	\$138,600	9	LUAN PHAN	\$40,120
5	JAY CHAVKIN	\$103,660	10	UPESHKA DE SILVA	\$29,250

Last 3 finalists made an agreement as follows: 1st \$351,240, 2nd \$316,405, 3rd 293,345

11	NICK CIPITI	\$29,250	29	PETER HENGSAKUL	\$13,125
12	THOMAS T. CHUNG	\$29,250	30	PEREZ AHMED	\$13,125
13	JAMES PILPA	\$24,000	31	MARK JUN	\$13,125
14	BETH HALL	\$24,000	32	HUY LAM	\$13,125
15	DAVID DUONG	\$24,000	33	MICHAEL KAISHAR	\$13,125
16	SCOTT CLEMENTS	\$19,200	34	CHRISTOPHER HOANG	\$13,125
17	NATHAN E. ADAMS	\$19,200	35	MIKE STELLA	\$13,125
18	CHESTER BURNETT	\$19,200	36	ANAS BENOHOD	\$13,125
19	ERNEST ASCHACHER	\$17,000	37	CHRIS CAREY	\$12,100
20	SAO KHIEV	\$17,000	38	RASHIM CANNAD	\$12,100
21	ABBAS ALIKHANI DEHAGHI	\$17,000	39	MARC ROBINSON	\$12,100
22	PAUL CHAUDERSON	\$15,400	40	MICHAEL B. SAUER	\$12,100
23	DANA KATZENMEIER	\$15,400	41	NAZAR BEKARYAN	\$12,100
24	JOHN HUELETT	\$15,400	42	JAMIE SHAEVEL	\$12,100
25	ED PICKENS	\$14,250	43	JOHN COOPER	\$12,100
26	DEEPINDER SINGH	\$14,250	44	EUGENE TITO	\$12,100
27	AVIV CHILDERS	\$14,250	45	LAWRENCE KIANG	\$12,100
28	TIMOTHY B. ADKISON	\$13,125			

Day 4 Qualifiers

The Gardens Casino



The Bicycle Hotel and Casino



Commerce Hotel and Casino





Hustler Casino



Payouts Hustler Casino			Payouts The Bicycle Hotel and Casino			
11th	NIKHIL GERA	\$7,830	11th	ILYA MILLER	\$7,955	
12th	RICHARD MESTAS	\$7,830	12th	JOSHUA J. FIELD	\$7,955	
13th	DYLAN NGUYEN	\$6,825	13th	GEORGE YUTUC	\$6,935	
14th	SUNG BAEK	\$6,825	14th	DANIEL L. ILLINGWORTH	\$6,935	
15th	LARRY TULL	\$6,825	15th	MICHAEL M. NIA	\$6,935	
16th	JARED GRIENER	\$5,920	16th	DARRELL G. LANE	\$6,015	
17th	BORIS AKOPOV	\$5,920	17th	DONALD W. KINLOCH	\$6,015	
18th	MICHAEL MOLINO	\$5,920	18th	GARY K. LENT	\$6,015	
19th	JOE NALBANDYAN	\$5,180	19th	THOMAS LEIMBERGER	\$5,265	
20 th	DAVID YOON	\$5,180	20th	EMMANUEL MARIANAKIS	\$5,265	
21st	NIPUN JAVA	\$5,180	21st	MARCEL SABAG	\$5,265	
22nd	GARY MILES	\$4,520	22nd	PAUL CHAUDERSON	\$4,595	
23rd	MICHAEL WASSERMAN	\$4,520	23rd	JAMES PETZING	\$4,595	
24th	HAMIDREZA KHODAMORAD	\$4,520	24th	HUY MINH NGUYEN	\$4,595	
25th	MARK HAMILTON	\$3,875	25th	ELAIS ARAMOUNI	\$3,940	
26th	WILLIAM VO	\$3,875	26th	MING LI	\$3,940	
27th	REX MENDOZA	\$3,875	27th	LIOR S. OREL	\$3,940	
28th	BRIAN GORMAN	\$3,205	28th	THOMAS ZANOT	\$3,260	
29th	SANJAY MAYEKAR	\$3,205	29th	JAMES DOWDY	\$3,260	
30th	LANCE GARCIA	\$3,205	30th	CHARLES DIGHTON	\$3,260	
31st	DOUGLAS TAKEUCHI	\$3,205	31st	SHAUN DAVIS	\$3,260	
32nd	HRACH TITIZIAN	\$3,205	32nd	NGON TRAN	\$3,260	
33rd	SHUNIKOV DMITRY	\$3,205	33rd	ESKINBEK OZUMBEKOV	\$3,260	
34th	SAFIYA UMEROVA	\$3,205	34th	ALLEN PRICE	\$3,260	
35th	JORDAN CRISTOS	\$3,205	35th	ALLAN LE	\$3,260	
36th	JOE SCHULMAN	\$3,205	36th	MATTHEW MCEWAN	\$3,260	
37th	VINH NGUYEN	\$2,575	37th	ROBERT YAMAMOTO	\$2,615	
38th	VINCE SALVATORE	\$2,575	38th	DAVID PAUR	\$2,615	
39th	KIM LAM	\$2,575	39th	ADAM NGUYEN	\$2,615	
40 th	SEAN YU	\$2,575	40th	IN Y KIM	\$2,615	
41st	SAMUEL STEIN	\$2,575	41st	MARC ORILLO	\$2,615	
42nd	OWEN CROWE	\$2,575	42nd	SEYED EDALAT	\$2,615	
43rd	EDWIN PAIRAVII	\$2,575	43rd	TYLER CORMNEY	\$2,615	
44th	JESSE YAGINUMA	\$2,575	44th	DAVID BAKER	\$2,615	
45th	BRADLEY COLEMAN	\$2,575	45th	ORI KOSSONOGI	\$2,615	
46th	MATTHEW SALSBERG	\$2,060	46th	MOHSIN CHARANIA	\$2,095	
47th	WENDY WEISSMAN	\$2,060	47th	DAVID ROSENBLOOM	\$2,095	

104h	VAHID JALALI	\$2,060	194h	RONALD CASTRO	\$2,005
		\$2,060			\$2,095
	DANIEL ROBERTS	\$2,060		MICHAEL DEHERRERA	\$2,095
-	MAX MASHOUR	\$2,060		JASON BRAL	\$2,095
	CHRISTOPHER MCFARLAND	\$2,060		RANDY WORRELL	\$2,095
	BARBARA ENRIGHT	\$2,060		ANTONIO CASTANEDA	\$2,095
	REUBEN HOANG	\$2,060		YUNPENG JIANG	\$2,095
	MOHSIN CHARANIA	\$2,060		STEVEN SILVERSTEIN	\$2,095
	STEVEN FIRESTONE	\$1,560		LIRIO FONTAMILLAS	\$1,585
-	HAYDEN AALVIK	\$1,560		SHAHROKH BEHDJOU	\$1,585
57th	BJORN BOOK-LARSSON	\$1,560	57th	HERMILO VARGAS	\$1,585
	CRAIG VARNELL	\$1,560	58th	MACRADIJ YACOUBIAN	\$1,585
59th	EDWARD HEALY	\$1,560	59th	JUSTIN L HAINES	\$1,585
60th	RYAN BUCKHOLTZ	\$1,560	60th	MATTHEW MCCREARY	\$1,585
	Day one \$800 x 112	\$89,600	61st	XIAO RUAN	\$1,585
	Day one \$700 x 33	\$23,100	62nd	NIKA FUTTERMAN	\$1,585
	Day one \$600 x 38	\$22,860	63rd	CHRISTOPHER ZIEBA	\$1,585
	Double qualifier \$1,200 x 4	\$4,800		Day one \$800 x 137	\$109,600
				Day one \$700 x 48	\$33,600
				Day one \$600 x 46	\$27,600
				Double qualifier \$1,700 x 7	\$11,900
	Payouts Commerce Hotel and Casin	io		Payouts The Gardens Casino	
18th	Longsheng Tan	\$9,955		1st - 8th Advanced + 10K each	
19th	Phuo Nguyen	\$8,770		9th	\$8,845
20 th	Khang Pham	\$8,770		10th - 12th each	\$5,770
21st	Tavio Hobson	\$8,770		13th - 15th each	\$5,035
22 nd	Loanne Nguyen	\$7,640		16th - 18th each	\$4,365
23rd	Andrew Miramontes	\$7,640		19th - 21st each	\$3,810
24th	Imran Hussain	\$7,640		22nd - 36th each	\$2,360
25th	Timothy Stanczak	\$6,565		37th - 45th each	\$1,895
26th	Walter Fisher	\$6,565		46th - 54th each	\$1,515
27th	Yahya Noor	\$6,565			
28th	Rigoberto Rodriguez	\$5,455		Day one \$800 x 115	\$92,000
29th	Israel Tovar	\$5,455		Day one \$700 x 36	\$25,200
				D 0.00 12	¢25 200
30th	Avedis Chuldjian	\$5,455		Day one \$600 x 42	\$25,200
		\$5,455 \$5,455		Double qualifier \$2,200 x	\$28,600
31st	Avedis Chuldjian	•		•	-
31st 32nd	Avedis Chuldjian Josh Field	\$5,455		•	-
31st 32nd 33rd	Avedis Chuldjian Josh Field Ophir Atar	\$5,455 \$5,455		•	-
31st 32nd 33rd 34th	Avedis Chuldjian Josh Field Ophir Atar Linh Troung	\$5,455 \$5,455 \$5,455		•	-

	Γ		
		5,455	
		1,360	
38th	Richard Geyer \$4	1,360	
	Ÿ	1,360	
		1,360	
		1,360	
42nd	Vince \$4	1,360	
43rd	Hien Ly \$4	1,360	
44th	Marc Souza \$4	1,360	
45th	Adam Sadick \$4	1,360	
46th	John Walker \$	3,475	
47th	Ming Li \$	3,475	
48th	Elvira Alieva \$	3,475	
49th	Joanna Sommerville \$	3,475	
50th	Jason Kim \$	3,475	
51st	Johnathan Dahlberg \$	3,475	
52nd	Joshua Weiss \$	3,475	
53rd	Chris Black \$	3,475	
54th	Parker Nitopi \$	3,475	
55th	Mario Fauceglia \$	2,615	
56th	Ryan Laplante \$	2,615	
57th	Leslie Scearcy \$	2,615	
58th	Rafi Azam \$	2,615	
59th	Steven Silverstein \$	2,615	
60th	Boris Akopov \$	2,615	
61st	Doug Kim \$	2,615	
62nd	Thomas Braband \$	2,615	
63rd	Evan Krentzman \$	2,615	
64th	Kyle Cameron \$	2,130	
65th	Joshua Lachman \$	2,130	
66th	Bradley Coleman \$	2,130	
67th	Shaun McBride \$	2,130	
68th	Jeff Friedman \$	2,130	
69th	David Fishcher \$	2,130	
70th	Keith Myers \$	2,130	
71st	Jean Gaspard \$	2,130	
72nd	Nikan Javadzad \$	2,130	
73rd	Adrian Kuan \$	1,710	
74th	Ian Tharp \$	1,710	
			·

75th Chris Abkarian	\$1,710	
76th Chris Smith	\$1,710	
77th Ming Li	\$1,710	
78th Minh Vo	\$1,710	
79th Scott Angus	\$1,710	
80th Gary Lent	\$1,710	
81st Felix Sin	\$1,710	
82nd Lena Evans	\$1,465	
83rd Derrick Mokedi	\$1,465	
84th Chris Klodnicki	\$1,465	
85th Mark Hamilton	\$1,465	
86th Dylan Nguyen	\$1,465	
87th Koveh Waysei	\$1,465	
88th Mika Hilaire	\$1,465	
89th Ronald Haeri	\$1,465	
90th Phil Laak	\$1,465	
91st Hogul Lee	\$1,260	
92nd Sung Chai Yim	\$1,260	
93rd Nick Phoenix	\$1,260	
94th Victor Crisostomo	\$1,260	
95th Greg Roberts	\$1,260	
96th Josh Marks	\$1,260	
97th Barry Woods	\$1,260	
98th Brandon Honig	\$1,260	
99th John Morgan	\$1,260	
Day one \$800 x 211	\$168,800	
Day one \$700 x 72	\$50,400	
Day one \$600 x 69	\$41,400	